



Vendor Ranking

Page 1 of 1

 Letting:
 03211014
 October 14, 2021 02:00 PM
 Call Order: 003
 Contract:
 E3V07

 District:
 District 3
 Counties:
 SANTA
 Fed Aid No: N/A

Contract Time: 60 CALENDAR DAYS ROSA Project(s): 42214237215 (*)

Contract Desc: MILTON MAINTENANCE - SHLDR AND DITCH MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BURNETT CIVIL CONTRACTING OF FL	Responsive	Winning bid	\$222,654.70	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$229,109.19	102.90%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

 Letting:
 03211014
 October 14, 2021
 Call Order:
 003
 Contract:
 E3V07

 District:
 District 3
 Counties:
 SANTA
 Fed Aid No: N/A

Contract Time: 60 CALENDAR DAYS

ROSA

Project(s): 42214237215 (*)

Contract Descr: MILTON MAINTENANCE - SHLDR AND DITCH MAINTENANCE

Improvements under this Site-Specific Contract consist of adding concrete ditch pavement, adding paved shoulder, adding concrete shoulder, removing riprap, removing and replacing damaged concrete ditch, removing and replacing buried pipe, installing new buried pipe, removing bag riprap headwalls, installing new headwall, and restoring all disturbed areas, and associated incidental work to prevent erosion and to restore and preserve maximum drainage functionality along a portion of SR 10 (US Hwy 90) at Mile Post 8.0165 in the Pea Ridge area and SR 10 at Mile Post 11.722 in the Milton area of Santa Rosa County, as shown in the Appendices. All work will be confined to the southern right of way of SR 10 between Sheffield Drive and Trice Road, and between Susan Street and Mary Street.

Line No / Item ID Alternate Item Description		Quantity Units	(1) BURNETT CIVIL CONTRACTING OF FL		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA				
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (ΤN				
0005 REMOV	0110 410 /AL OF EXISTI	NG CONCRETE	187.000 E SY	30.00000	5,610.00	18.00000	3,366.00		
0010 BORRO MEASU	0120 2 2 DW EXCAVATIONE RE	ON, TRUCK	634.600 CY	85.00000	53,941.00	64.00000	40,614.40		
	0121 70 2 BLE FILL, MAI ACTS ONLY	NTENANCE	1.000 CY	1,000.00000	1,000.00	1,500.00000	1,500.00		
0020 MISCEL	0339 1 LANEOUS AS	SPHALT PAVEN	28.100 IENT TN	500.00000	14,050.00	461.00000	12,954.10		
0025 CONCR	0400 32 RETE FOR JOI	NT REPAIR	1.300 CY	750.00000	975.00	2,400.00000	3,120.00		
	0430175124 ULVERT,OPTI IAL,ROUND, 2		360.000 LF	114.42000	41,191.20	194.00000	69,840.00		



10/26/2021

Tabulation of Bids

Page 2 of 3

Letting	g : 0	3211014	October 14, 20	21 Cal	II Order: 003		Contract:	E3V07	
	No / Item ID	Alternat	e Quantity Units	(1) BURNE CONTRACT		(2) ROGAR MAI	OF FLORIDA		
() inc	dicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (TN				
	0430524200 GHT CONCRE .E, 0 DEGREE	TE ENDWALLS	1.000 S, 24", EA	4,100.00000	4,100.00	6,800.00000	6,800.00		
	0524 1 2 RETE DITCH F DRCED, 4"	PAVEMENT, NO	751.000 ON SY	78.50000	58,953.50	94.00000	70,594.00		
0045 RIPRAF	0530 3 4 P, RUBBLE, F	&I, DITCH LINII	50.000 NG TN	700.00000	35,000.00	144.00000	7,200.00		
0050 REMOV	E110 70 /AL OF FLEXI	BLE PAVEMEN	104.000 NT SY	20.00000	2,080.00	44.00000	4,576.00		
0055 SODDIN	E575 1 NG		959.000 SY	6.00000	5,754.00	8.91000	8,544.69		
0001 ASPHALT REPAIR Section Totals: (MANUAL) (TN)					\$222,654.70		\$229,109.19 [']		
Contract Grand Totals:				\$222,654.70		\$229,109.19			



10/26/2021

Tabulation of Bids

Page 3 of 3

Letting: 03211014

October 14, 2021

Call Order: 003

Contract:

E3V07

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.